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1) Determine whether the series is géabsolutely convergent3 conditionally convergent or divergent
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2) Test the series for convergence or divergence
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3) Determine whether the series is convergent or divergent
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4) Find % of the curve z = 1 + 2, y = 2 + t.
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5) Determine whether the following series is convergent or divergent and why
n+2
— n+ 1

\

u,éd & (L@

D by iy, Cot

NOT

6) Determine whether the following series is convergent or divergent and why
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7) Find a polar equation for the curve represented by the followmg Cartesian equation zy = 4
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8) Determine whether the following series are convergent or divergent, and the sum if possible
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9) Determine the value of the following sum by expressing the argument of the sum via partial
fractions and by writing out the first few terms of the sum
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0) Determine whether the following series is convergent or divergent
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11) Give an example of a conditionally convergent series (convergent but its absolute value is not)
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12) Determine convergence or divergence of the following series

n gan WNE =0ooedts
G b versent



13) Find the exact length of the curve £ =1+ 32, y =4 +2t3 with 0 < ¢ < 1.
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14) Eliminate the parameter to find a Cartesian equation of z = sint, y = csct with 0 < t < 7
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15) Determine whether the sequence {n”e™"} converges or not.
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16) Determine whether the sequence {tan ( 1 —:ngrn)} converges or not.
|
£~ TT i ' 2 ) - .
/)“C( WY )}Z'M/X %_j}w, - Loy Wﬁ;\ o - {"‘72\
s e 80 A= 0 ¥ «
(;Q{\\’/ .

P el b
B

r‘w\_\/\‘}\&
@)

oo
el

o



